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@ sin0° =0, sin90° =1 @ cos0° =1, cos90° =0

@ sin45° = cos45°
sin 30°
cos 30°

@ tan0° =0, tan45° =1

= tan 60°
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& AZ4d7H ABC 914 A = 34° &

o, o] BC & Fo1H? (&, sin34° =
0.5592, cos 34° = 0.8290 )

@ 20.141cm @ 21.523cm

@ 22.368 cm @ 23.694 cm

3 24.194 cm
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th2 187 Zo] AB = 10cm, AC = 6cm
Q1 A 7M7Y ABC & 41 & 5=
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@D 1247 cm? @ 124 V27 cm?
@ 1347 cm? @ 134 V27 cm?
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2 B3, 5710 1 ke gt b 2 e Al
Fstoler,

ZI e sin cos tan
10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0.7071 1,0000
50° 0,7660 | 0,6428 1,1918
70° 0.9397 | 0.3420 2.7475
89° 0.9998 | 0.0175 | 57,2900
Exl
@ sin20° © cos35° © sin70°
® cos50° © tan70°

ODHe.e 0,6 60,0 @06 &Aoo
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45° & o, 5 AE9] &olE Fotelet.
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@ 200m @ 200 (1+ V2)m
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@ (20-10v3) cm
® (20-5V3) cm

B 5 cm
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@ 2\/§cm2
@ 42 cm?
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@D 2 ® 10 ® 12 @ 14 ® 60
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of #2?

O



19.

® 5



20. thg 193} o] 717} thE Y3 PAztg S0l A= ojo] Fata
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